Aerial Cam Unit

- B-HUCTF -

e Standard working force (one million strokes):
68.7 kN,Allowable working force (300,000
strokes):137.3 kN.

e Strong type with the return force of 600 kgf or larger.

® Automatic alignment mechanism of theV-shaped
guide.

® Available angle is 0" to 75" at increments of 5°.

o Optimum for thick sheet or piercing of high
strength steel.

® |SO spring is used.

Ml Slide Structure and Positive Return Structure

® Clearance between the Cam Holder and Cam
Slider is within 0.03.

N e Clearance between Cam Slider and Cam Driver
| Slide Keeper is between 0.01 and 0.03.

This makes smooth movement for slide and

positive return.

—— Cam Holder

Lower Plate

Within 0.03

*|f a bigger clearance for Cam Holder or Cam
Slider is needed, please contact BYTE Oilless
sales department.

Cam Slider

Positive Return
Follower

=
)
=
B
o
8
3
=
S
=

2 Cam Driver

*Qilless system at
hatched area

1
Email : mk@asianadvanced.co.th

nnnnnnnnnnnnnnnnnnnnnnnnnnn



Aerial Cam Unit

- B-HUCTF -

M B-HUCTF Structure and Assembly / Disassembly

@ Disassembly method of B-HUCTF
1) Loosen hexagon socket head bolt ( @ Jand remove stopper plate (@ ). Pull and remove cam slider
(@) from cam holder (@) to the rear.

Aerial Cam Uni

® Assembly method of B-HUCTF
1) Assemble components in the reverse order of disassembly.

* Make sure that there is no foreign matter on the sliding area and assemble components.

» The clearance between the cam slider and the cam holder is controlled. Match the stamped
serial number on the holder and slider before assembly.

*When cam is disassembled and then reassembled, please do not forget to assemble all bolts
provided.

roroweozcoeons A I |
Email : mk@asianadvanced.co.th

AAAAAAAAAAAAAAAAAAAAAAAA




Aerial Cam Unit

- B-HUCTF -

B-HUCTF65(00° ~75° )

s3]
o1
S
K
@

65
40
%

63 4-411-417.5 2-410H7

C+0.02 @0
(Tolerances are from Dowel Pin Hole.) ! T

®9®

9125
6.3

6.3

30

230

6.3

=
)
=
B
o
8
3
=
S
=

15+0.05 135+0.02 X
&

(Tolerances are from Dowel Pin Hole.)
165

6.3

B (¢ I AAT oo
Email : mk@asianadvanced.co.th



Aerial Cam Unit

- B-HUCTF -

w 0 S A B C D E F G H |
0 22.50 255.00 | 79.20 | 150.80 | 58.50 .05 160.00
5 22.60 265.68 | 82.29 | 147.71 | 67.10 170.68
10 27.20 256.04 | 86.29 | 143.71 | 75.40 181.04
15 27.80 275 245 266.02 | 91.18 | 138.82 | 83.30 75 191.02
20 32.30 50 255.53 | 96.93 | 133.07 | 90.80 60 195.53
25 33.40 264.51 | 103.48 | 126.52 | 97.80 204.51
30 38.00 252.88 | 110.79 | 119.21 | 104.03 40 212.88
B-HUCTF65 35 40.20 260.58 | 118.80 | 111.20 | 110.20 220.58
40 45.00 242.56 | 122.45 | 107.55 | 120.40 20 222.56
45 48.70 248.75 | 131.67 | 98.33 | 125.00 228.75
50 54.50 290 260 236.28 | 125.98 | 104.02 | 148.10 0 236.28
55 61.00 240.78 | 136.14 | 93.86 | 153.10 240.78
60 70.00 60 234.50 | 145.31 | 84.69 | 159.80 10 244 .50
65 68.50 231.79 | 146.72 | 83.28 | 145.20 276.79
70 67.20 228.97 | 147.89 | 82.11 | 159.00 45 273.97
75 69.50 233.82 | 167.79 | 62.21 | 153.54 278.82

Table of Components

No. Description Qty | Material and Remark
(1) | cam Slider 1 | QT500
(2) | cam Driver 1 | QT500
(3) | Cam Holder 1 | QT500
@ Slide Keeper 2 | 45
(®) | Positive Return Follower B | 1 | 45
(&) | Positive Return Follower A | 1 | 45
@ Stopper Plate 1 | Q235
Cam Slide Guide 1 | Bronze
@ Lower Plate 1 | Bronze
Spring Guide Pin 1| Q235
@ Stopper 2 | 215x13 ]
@® | Coil Spring 1 S
@ Dowel Pin with Female Thread | 2 | @10 x 30 %
Hexagon Socket Brazier Head Bolt | 2 | M10 x 20 ":"
@ Hexagon Socket Brazier Head Bolt | 2 | M8 x 18 E
Hexagon Socket Head Bolt | 4 | M10 x 30 =°|:°
(7) | Hexagon Socket Head Bolt | 5 | M8 x 20
Order No :
| Catalog No. | | (W) | - | (0) |
B - HUCTF 65 75

Sl L |/
Email : mk@asianadvanced.co.th

AAAAAAAAAAAAAAAAAAAAAAAA




Aerial Cam Unit

- B-HUCTF -

Working Force kN(tonf)

Spring Force N (kgf)

Travel Standard Allowable Total Weight
Catalog No. | (W) - °
0) | s Working Working | |pitial Load | Final Load kg
Force Force
(one million strokes) | (300,000 strokes)
00 | 225 18.4
05 | 226 18.6
10 | 272 17.4
15 | 27.8 17.5
20 | 323 16.6
25 | 334 16.8
5988.5
30 | 380 (610.7) 16.9
35 | 402 o8 1373 00 17.0
7 7. .
B-HUCTF | 65 (7.0) (14.0) (0.0)
40 | 45.0 16.4
45 | 487 16.6
50 | 54.5 15.9
55 | 61.0 16.1
- 60 | 70.0 16.4
-]
= 65 | 685 5690356-33
() (603.3)
% 5862.7 180
= 70 | 67.2 (507.8)
=,
~ 5257.8
75 | 695 (536.1) 20.0

'ASIAN ADVANGED TECHNICA GO, LTD.

ADDTTIONALE DIE COMPONENTS
Email : mk@asianadvanced.co.th



—
—
=
c
X
<
-
@
=

- B-HUCTF -

Cam Diagram

Hun wey jeLay

|onel] ssald

cLel |

OQV
|©ABI| Ssald

0'se

0/@;@
|oAe1] Ssold

009

oQK

|oAR1] SSBld

€9

N o 0 o % S
© o 1) /N [ 32PN 2
9 QRN Ne} N 07 2 3 ~
2 = © g Y @ 12
N o @Lo/
5 o : i : g
~
8|02 |oAel| sseld %9
anel] ssal 191811 §59.d _ ,
_ ._. d g8z Ly 7 |oABl| SSeld
8'8¢ I 229
[} o
| O 2/ = o) o
4 NS 9 & L @ o/ & ) S 5
G = @ & ?x/r% < © 52 e}
o o o o N 1@
o o o o o
o I3Y ™ o 8
o0l
% i\ oSl OC | o0g °%9 o>
onel| sseld
|oABI| sSsald |
|onel] sseld [enel] ssa8ld L d1e | Tor |enel] ssald i o
IEEXN TTet | | | T em IR
© W e} 0 A Te} = 15}
i o/ & S )
e N2 e o/ @ 2 27 © Q 89
3 = K N/ & ® 5/ & K 1N
O © ~ & \/f@ AA@L
3 o 3 f : :
o
o — ™ < % N~

ADDTTIONALE DIE COMPONENTS

ASIAN ADVANGED TEGHNICA GO, LTD.

Email : mk@asianadvanced.co.th



=
)
=
B
o
8
3
=
S
=

Aerial Cam Unit

- B-HUCTF -

Spring Diagram

.| I AnT(

'ASIAN ADVANGED TECHNICA GO, LTD.

ADDTTIONALE DIE COMPONENTS
Email : mk@asianadvanced.co.th

00° 05° 10°
5988.5 5988.5 5988.5
(610.7) (610.7) (610.7)
4653.9 4671.0 JIIITIITIIIIIN 4893.5
(474.6) 476.3) (499.0)
0.0 y [ 0.0 y 0.0 ) [ ]
00 lognhinl] | o=7.8 0.0 gnbisla | | e=7.7 0.0 gl il 7] [e=6.4
Free Length 152 Free Length 152 Free Length 152
[ TUB40-152 ] [ TUB40-152 ] [ TJB40-152]
15° 20° 25°
5988.5 5988.5 5988.5
(610.7) (610.7) (610.7)
4910.6 5064.6 | TITTiiiiiiL 5098.8 JTTITTITITIIIIN
(500.7) (516.4) (519.9)
0.0 v L1 0.0 I 11 0.0 /)l
(0.0) LengTha{Fma\ Load117| | e=6.3 (0.0 Lengthg{ﬂna\ Load117| | e=5.4 (0.0) Lengthél/Fma\ Load117| | e=5.2
Free Length 152 Free Length 152 Free Length 152
[ TUB40-152 ] [ TUB40-152 ] [ TJB40-152 ]
30° &a° 40°
5988.5 5988.5 5988.5
(610.7) (610.7) (610.7)
5201.4 5235.7 JTITITIITIIIITN 5321.2
(5630.4) (633.9) (542.6)
0.0 //// L 0.0 /// 0.0 // 1|
(0.0) Length t Final Load 117| | =46 0.0 Length a{Fma\ load 17| | e=4.4 (0.0 Length a(Fma\ Load 17| | e=3.9
Free Length 152 Free Length 152 Free Length 152
[ TJB40-152] [ TJB40-152 [ TUB40-152]
45° 50° BHR
5988.5 5988.5 5988.5
(610.7) (610.7) (610.7)
5372.5 5441.0 5492.3
(547.8) (654.8) (560.1)
0.0 // |l 0.0 I 11 0.0 M ||
0.0 |eginitFralloag 17| | e=3.6 0.0 gt L Lot 7] | e=3.2 0.0 ghdrnaloas 17| |e=2.9
Free Length 152 | Free Length 152 Free Length 152
[ TUB40-152] [ TUB40-152 1 [ TUB40-152 ]
60° 65° 70°
5988.5 5936.3 5862.7
(610.7) (605.3) (597.8)
5560.8 5506.4 JTTTTIIIIIITIIN 5429.4
(567.0) (561.5) (553.6)
0.0 , || 0.0 ) 0.0 M |1
(0.0) Length a(Fma\ Load117] | e=2.5 (0.0) Length a/{Fma\ load 98| |e=2.1 (0.0) Length a((Fma\ load 79| |e=1.7
Free Length 152 Free Length 127 Free Length 102
[ TUB40-152] [ TUB40-127] [ TUB40-102]
75°
5257.8
(536.1)
4878.1 I
(497.4)
0.0 I 11
0.0 Length é{Fma\ load 71| | e=1.3
Free Length 89
[ TUB40-89]




